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The measure of an angle formed by two secant
lines that intersect inside a circle is half the sum
of the measures of the intercepted arcs.
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1. mAD = 155 and mEE = 61. what is
mZ1?
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The measure of an angle formed by two lines
that intersect outside a circle is half the
difference of the measures of the intercepted
arcs.

Consider the first case.

Case 1
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The measure of an angle formed by two lines
that intersect outside a circle is half the
difference of the measures of the intercepted
arcs.

Consider the second case.

Case 2

If...




The measure of an angle formed by two lines
that intersect outside a circle is half the
difference of the measures of the intercepted

arcs.
Consider the third case.

Case 3

If...

Then... mZ3 = %(f —e)



Vertex Outside the Circle

ms2 = %(y° - x°)
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. Find m£BEC.
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6. Rays QP and QR are tangent to the circle in

the figure shown. Find mZPQR.
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16) Find mzDEG
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